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QUESTION 1
You want to capture an accurate baseline of your network. In this situation, which two actions
should you perform? (Choose two.)

A. Maintain an understanding of the applications that should run on your network.
B. Test the restoration of the rescue configurations.

C. Standardize the module population across the network.

D. Collect an extensive history of network performance data.

Answer: AD

QUESTION 2

Your company requires the ability to quickly recover from a misconfigured router breaking its
forwarding and control planes. They decide to deploy terminal servers with connections to all
router console ports to provide this capability.

Which two strategies will satisfy the requirements? (Choose two.)

A. Connect the terminal servers using a switch connected to inet6.0 on the production network
routers.

B. Connect the terminal servers using a 4G LTE modem.
C. Connect the terminal servers using a parallel network of separate routers.
D

. Connect the terminal servers using a switch connected to a separate routing instance on the
production network routers.

Answer: BC

QUESTION 3
You are asked to design a backup schedule using existing tools and incurring no additional
expense. Which two protocols would you consider to accomplish this task? (Choose two.)

A. rsync
B. SMTP
C. SFTP
D. SNMP

Answer: AC
QUESTION 4
What two statements correctly describe the REST APl on Junos devices? (Choose two.)

A. The REST API is enabled by default on Junos devices.
B. The REST API supports GET requests.

C. The REST API supports DELETE requests.

D. The REST API supports both HTTP and HTTPS.

Answer: BC

QUESTION 5
What are two issues that affect the uptime of a network? (Choose two.)
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planned outages
power current used
WAN failure
packet loss
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Answer: AC

QUESTION 6
Which two statements about network management are correct? (Choose two.)

Fault management can discover problems before they cause downtime.

Authorization validates that a user is who they claim to be.

Measurement of network performance, errors, and security allows administrators to make
informed decisions.

Network management is added after the network is built and network designers do not need to
consider it.
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Answer: AC

QUESTION 7
In which two instances should you use Postman as part of network automation? (Choose two.)

A. to connect network infrastructure with cloud applications

B. to write custom scripts in the Python programming language
C. toreceive real-time updates from a device without polling

D. to perform prototyping of API requests

Answer: AD
QUESTION 8
What are the correct categories of the OAMP management methodology?

A. operations, administration, maintenance, provisioning
B. operations, applications, maintenance, performance
C. operations, actions, management, personnel

D. operations, accounting, management, positioning

Answer: A

QUESTION 9
Referring to the exhibit, which oversubscription ratio applies to Switch-37?
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Answer: B

QUESTION 10

You need to determine how far apart access points operating on the same channel ought to be
placed.
In this scenario, what is the recommended signal strength when determining this information?

A. -30dBm
B. -10dBm
C. -5dBm
D. -65dBm
Answer: D
QUESTION 11

What are two primary objectives when designing a wireless LAN (WLAN)? (Choose two.)

A. the number of access points required
B. the location of the access points

C. access point serviceability

D. access point configurability

Answer: A

QUESTION 12

You are gathering information to determine capacity, density, and scaling of systems for a
campus switching design.

What information is critical to the design? (Choose three.)

the number of guest users or contractors accessing with a mobile hot spot

the number of unmanned IP-enabled end systems (e.g., HVAC, network printers, POS machines
the number of users with a fixed desktop station and attached IP phone

the number of physical VolP phones not connected to a desktop

the number of users that are home office/mobile workers
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Answer: BCD

QUESTION 13

You are a network engineer at a large university. The architecture team has recently chosen Mist
to replace the existing controller-based system and has replaced all the access points (APs)
throughout the campus. Since the migration, users have been complaining about VolP calls being
dropped while moving between buildings. You have already validated that the APs provide
appropriate coverage.

Which change would help alleviate this issue?

A. Deploy a Mist Edge.

B. Deploy a Session Smart Conductor.
C. Deploy a Session Smart Router.

D. Deploy additional access points.

Answer: A

QUESTION 14

Which of the following statements are true regarding a lower oversubscription ratio in a network
design?

A. A lower oversubscription ratio increases the overall cost of the network.

B. A lower oversubscription ratio provides less available bandwidth to handle congestion.
C. A lower oversubscription ratio decreases the overall cost of the network.

D. A lower oversubscription ratio provides more available bandwidth to handle congestion.

Answer: AD

QUESTION 15

You are designing the network for a small campus using Mist. You have two Junos switches that
support EVPN-VXLAN core devices and two Junos access switches that do not support EVPN-
VXLAN. Which campus design is available with these devices?

A. EVPN Multihoming

B. Campus Fabric core-distribution
C. Campus Fabric 3-staqe IP Clos
D. Campus Fabric 5-stage IP Clos

Answer: B
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